
Lesson 60 Standardized Test Practice 1 Language for Writing
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1. Here’s what we know:

All the girls are wearing

(l the girls are barefoot.

� C. One of the girls is named Gwen.

� D. One of the girls is wearing shoes.

2. What is the predicate of this sentence?

The gray squirrel dashed back and forth across the road.

� A. dashed back and forth across the road

� B. the gray squirrel dashed back and forth

� C. back and forth across the road

� D. the gray

. the monkey

� C. monkey is

� D. is scratching
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Lesson 60 Standardized Test Practice 2 Language for Writing

4. Complete this analogy:

Long is to short as hot is to ____.

� A. sleep

� B. wide

� C. cold

� D. ocean

5. Here’s what happened:

Rajina went to the shoe store. She tried on three pairs of shoes. She left the store because

she didn’t find any shoes she liked.

Why did Rajina leave the shoe store?

� A. because she didn’t have any money

� B. because she tried on three pairs of shoes

� C. because she forgot to wear socks

� D. because she didn’t find any shoes she liked

6. Complete this analogy:

Cars are to streets as boats are to ____.

� A. air

� B. water

� C. coats

� D. sails
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7. Write this sentence the correct way.

my pants are too long the boy said

________________________________________________________________________

________________________________________________________________________
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Jasper got ready to go to school.
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